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4, BEHRSIEK =1,100 8-1,080 B-60 B =-40 B..... KRR +EREMIZREHIR
6. Y7k =3,000,000+150,000=3,150,000

S EIRSIHTEE%E = (3,150,000-100,000)/5 = 610,000
BE R ITELRE = 610,000*2,500,000/3,150,000 = 484,126
T EEHBPRAE = 610,000-484,126 = 125,874
111/12/31 BRME{EE = 3,150,000-610,000 = 2,540,000
H €184k = 2,000,000-2,540,000 = -540,000
9. BEARSZH=720*200+500*200=144,000+100,000 =244,000

T EIFEE F=244,000/8=30,500

13. FRFA1S%8 =1,000 & * 15%=150 &
FENAFREE = 150 B * 20% =30 &

15. EFIEZEFT1S%8 = 8,000 B*15% = 1,200 &
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20. WRIVEBEHTERE = (4,500,000/5 ) *6/12 = 450,000
TS AR ERE Z 1 &8 8 = 450,000*2,500,000/4,500,000 = 250,000
22. VDIBRRRBEIBEFE 2 T iREARXE = 800 5-400 E=400 &
PEMAEIRBEEFTE 2 T HIREAAE = 400 £-400 =0 &
T IIB1ERT = 400 & * 10%=40 &
112/1/3 & A 112/712 B ERAFE Bt & —PrEH 2.0:
BEBE1EA : =X 45%
OEERZ T HIBER =40 8 * (1800 £-400 & ) /400 =40 5
E#ZZ 518 = 1,000 #-600 £-40 & =360 &
ERSHFMAE =360 &
FERE X S TS FIRE = 360 & * 45%=162 &
24. FE#RFREE= ( 150,000-120,000 ) *1/2=15,000
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